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General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(i) All questions are compulsory.

(iij  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

{(v)  Question numbers 1 to 3 in Section-A arc one mark questions. These are to be answered in
one word or in one sentence.

(vi), - Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

(vii) Question numbers 8 to 19 in Section-A are three marks questions. These are o be answered
in about 50 words each.

(viii) Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

{ix} Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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HA-#H / SECTION-A ;
1. o gfee ok e foga oiteg =t s § 9= % fag 5w i & wdm e sma 1
2. IuF! T TafEn)
Name the device used to prevent damage to the electrical appliances and the

dEmesﬁc circuit due to overloading.
|

2. ufenfos e o1 G § wHE %E fareE 1
State the main function of abscisic acid in plants.

3. SEE % WE AF99 F AW TAed i 598 $HE! SHa S ey | 1

Mame the major constituent of biogas and its approximate percentage content in it

4. Hrifem @R eedEeiE o & e B A afufE = ggfan see faieg ) W 2
IeUTE &1 9 Tertay gun AfafEa & wEr = mmei |

Write balanced equation for the reaction between Magnesium and hydrochloric acid.
MName the product obtained, identify the type of reachon :

st At = ofiew SR st 9 See Thie e | fag v ww o 2
¥ 3 H 78| To% R TEEE

Define ionic compounds ? lonic compounds conduct electricity only in the molten
state not in solid state. Why ?

L

6. U UH TawE uiied w1 A =g fed 3 9 B, owier, ON e d e a9 UF a@ed 2
& iR goa Tiay FEd faed 4wt eEe W 9 909 TS A W 9 39 9ae 5
il W Hieesie e El|

Draw a schematic diagrams of an electric circuit comprising of a 3 cells and an
electric bulb, ammeter, plug - key in the ON mode and another with same
components buf with two bulbs in parallel and a voltmeter across the combination.

3]

7. TE T W O SUE URi A, B, 9 C A T E
la i B [ C|
¥ FT & AW Ty W SR 8 (i) - P () g T o oam A
e & el ) geea e v e et
The given magnet is divided into three parts A, BandC

laiB icC|
Name the parts where the strength of the magnetic field is :
(i) maximum (i) minimum

How will density of magnetic field lines differ at these parts.

@ Fe o v, wRE # wa fey ST 9w wee w1 e fofed | § afafead Sfag s 3
== gd % vew 4 Souf w0 W A ¥ 2R Al veetE afufe ¥ wER H
qRwfea ®ife
Name the salts that are used in black and white photography. Give reactions when

they are exposed to light. Define the type of chemical reaction faking place.
9. U R T i SenET w1 Tw A wl 8 o T Hi- it S 2w 3
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11.

13.

15.

(i) ¥ IEE % aEE § HE i B e aHeEd |
) A SfvE % WR % A fafEd st 39 uftatya i
(i) 39 Afulmar s vaEtE gt fafad |

A small amount of calcium oxide is taken in a beaker and water is added slowly to it.
(i) Will there be any change in temperature of the contents ? Explain.

Ti)  Name and define the type of reaction taking place 7

(iif) ~ Write chemical equation for the above reaction.

T W FE 9T H 9E T 7 &R e gen w9 F fAu v v veet S 9 g 3
et w1 T fafed @ 5% wiE s fafen wols o = ywE faras | s
& | T R e e stafwe e |

A white powder is added while baking breads and cakes to make them soft and
fluffy. Write the name of the powder ? Name its main ingredients ? Explain the
function of each ingredient ? Write the chemical reaction taking place when the
powder is heated during baking.

o= o arrEe =51 59 TUEE
(i)  Hifeaw =G (i)  AFIET F€RES
e A § Fufus sl w5 veEm wifad

Hlustrate the formation of bond in : :
(i) Sodium chloride (i)  Magnesium chloride
Identify the ions present in these compounds.

WieAIe =i QTS ST | ST S A ferEd A 5H Siediad Hiad |
T 1 fau weedf =1 =01 wiatasar & ofter 3 faem =i .

(a) T@E () 107¢Qm
(b)  wEE () (i) 102 to 107 Om
(c)  Torega Oelt (i) 1075 to 1078 Dm

Define resistance. Write the SI unit of resistance and define it. Match the correct
range of resistivity with the materials given.

(a) Conductors (i) 1074 2 m
(b)  Alloys (H) 102 t0 107 0 m
fc) Insulators (i) 107¢ to107% {km

i w1 e fofigd ol 38 v =g frefe i) ey s s s fag s s
foru oftgy anvE =g | faviarm @i um & <t g s &1 T2 e

. ‘State Ohm’s law. Express it mathematically. Draw circuit diagram for its

experimental verification. Draw the pattern of graph between potential difference
and current.

wF fRarmem % weE o TifEa for gt fg aw & gEeE veE aeed |
Explain the magnetic effects of current with the help of an activity along with labelled
diagram.

AT YA 3R ASTEEE TE e T S U aifere] o e S |

List in tabular form three differences between aerobic respiration and anaerobic
respiration.

3
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16.

18.

20.

31 B19H =1 M fafad famw v@w -
(a)  T=ENE
(b) W

(¢) o= et (wfavss) oi=r 5w & 21

« -®lame a hormone secreted by :

(&) Pancreas (b} Pituitary fc) Thyroid
State one functon of each of the hormones. C !

THRTE 1 ofoafeT Ffd | Anmed i Od § 2 B TR B §1 weeeEe
fear % forw Fo = |

Define phototropism ? Explain how does it occur in plants ? Draw a diagram to
show phototropism.

= ol Tt el # aEvEsmmed w0 R % fed dier TEl # owEm = W o
Hea? TOFED| 9N IR ¥ wudy § 4w dfm E@e oet F d5 s
izi=pd!

Mention why is it not possible to make use of solar cells to meet all cur energy needs
? State three reasons to support your answer. Also mention three uses of solar cells.

=q-wiwa 1 9m fEfEd fawds g ivs o= som = o € oin frgt o e =
am Teified < 50 whe % fod wam fier s &) =it <) & <1 v e 2 v
Hee feafad |

Name the process by which nuclear energy is generated and also name one substance
used for it. Give two advantages and two hazards of muclear energy.

HI T 705 FeREes 3en ¥ Freedn fam wen oo sar 27 39 9fman 3 wfem
afufrard & s fafad swg 99 = fagg doees 5o ofgiem T =9 ga
g |
IHow is copper obtained from its sulphide ore ? Write balanced equations involved in
the process. Explain with the help of labelled diagram the electrolytic refining of
impure copper. .
JeaEr S OR
(a) == whegm &t uge % Freedo % fow wEm =) S A S e ae fofed
(b)  UNE (&) % HEA o A fafed | 9Re %1 3 qEew § B TR A
o S ® 1 ot Hafan TeEtE i fafad
(o) iz afufFer R wed ¥ dafem TeEtE SHiE g0 BEERA L 3 W w
Tt Sregar e 4T SR 1 wed & ol e wer v faar e #
: J{a—)r/ Name the method used to extract metals of high reactivity.
(b Name the main ore of mercury. How is mercury obtained from its ore ? Give
alanced chemical equations.

Explain what is thermit reaction with the help of balanced equation.. How is it
* used to join railway tracks or cracked machine parts ?

93]
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1.

(b)

)

(d)

(1)

o

e W pH WH ¥ o ww § e € 99 fafed) wwed fE owefes
ST 1 P § Y amm e 1 O wfas m am i

A g8 %1 pH A 6 Bl T < & uftafia e 90 g pH I few TR TiEfdd
M7 TR AR

T gy e gd H el W At Hel e & ¥ e A W gy # e
wfafia 29§ afi v o 8 weeEd i g Em

ez 37 WHT e YR F1 O 87 R 2k o [EZ:ReCaticate b1 R

Mention the pH range within which our body y{vorks. Explain how antacids
give relief from acidity. Write the name of one such antacid. '
Fresh milk has a pH of 6. How does the pH will change as it turns fo
curd ? Explain your answer.
A milkman add a very small amount of baking soda to fresh milk. Why does
this milk take a longer time to set as curd ?
Mention the nature Df tooth pastes. How do they prevent tooth decay i3

Ak aﬁﬁT S OR

%ﬁquwﬁﬁmﬁ%ﬁmaﬁﬁam%ﬁnmmﬂﬁmﬂfﬂmﬁ
¥ ford swEm fem o 31 TeE veEtE AW SR g7 fafed §8 e T
S S 7 Tty afufE w e fafed ) 3w difts F SR o an
sy fafad |

i Frer R AfHT |re # Tt g fafad |

Identify the compound of calcium which is yellowish white powder and is
used for disinfecting drinking water. Mention its chemical name and
formula. How is it manufactured ? Write the chemical equation for the

reaction involved 7 Also list four other uses of the compound.
Write the chemical formula of washing soda and baking soda.

o

fopst = ¥ forg @) Fm-fmt AT Ty @R T, W e aRy (V-1) I A
formy T ¥ o T T i w1 AR s 7 o IR 1 g wIN

A

wmﬁmﬁ%mmmwﬁaﬁﬁmmwﬁwﬁ?m
ﬁﬂﬂﬁmﬁﬁﬁmﬁ:
[ 1(4) | 05 10 20 | 3.0 ‘ 10 |

[v%\fnltsl 1.6 67 | 102 | 13.2 |
I%ﬂmmﬁfﬁa&mmﬂmmmﬁmi
The voltage - current ( V - I) graph for a conductor at two different
temperature Ty and Tz is shown. At which of the two temperatures the
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’ resistance of the conductor is higher ? Justify your answer.
s 4 T.
L 2 e
v T e
2 4 1 =
T % L &' c* 5-
A

R

(if) The values of current I flowing in a given resistor for the corresponding
values of potential difference V across the resistor are given below :

1(A) 05 [10[20] 30 | 40 |

V(Volts) | 16 | 34 [ 67 | 102 | 132 |

Plot a graph between V and I and calculate the resistance of the resistor.

39ET / OR
@ &l e e 3 S % RS wew i e e gl ag w7 S S
HRoT wied i |

(i)

(€  uRT" H Fer wawEt s

(i) How will you convert a given set of resistors so that the equivalent resistance
is increased ? Give reason for your answer.
(i)

54

2 wa N
o
\_.mi?i/

R\

In the above circuit diagram, calculate :
{a) the value of current through each resistor
(b) the total current in the circuit
(c) the total effective resistance of the circuit.
23, () TooE SYEROl H W-HETH TR W Y G0EEd | uifEs st 9t fags 3o 5
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24,

(i)
(i)
9

(1)
(i)

W1 Y-Hgeh T FE AEYIF T €7

‘e Bl GHEEy |

2 KW STTEE ¥ Sgd oA 1 220V F e, fe wfuy # g s § fore
S 5A §1 T AE B TR AT F O H A T €

Explain the function of earth wire in electrical instruments ? Why is it
necessary to earth the metallic electric appliances ?

Explain the term short circuiting.

An electric oven of 2 kW power rating is operated in a domestic electric
circuit (220V) that has a current rating of 5A. What result do you expect  on

putting on the oven 7

(1)

(i)

(@

(i)

(b)
(a)

(b)
(a)

379ET / OR
U TN UF EEE 69 § T endad e § e wa € s e
forgmn T ¥ UE sawee few few H vfe wom? wm fe @ oAm an e
%ﬁaﬁﬁﬂﬁ:ﬁaﬁﬂﬁm‘lﬁﬁ&ﬁﬁmﬁﬂﬁdﬁﬁ%l

e

-~

3=

-

Lo

o Ty T T 2 e U uREme S S gEsE a6 0 @ 1
T UE 99 T e
An electron enters a magnetic field at right angles to it as shown in the figure

below. In which direction will this electron move ? Name and state the rule
applied by you in finding the direction of motion of the electron.
é

-

Describe an aclivity with diagram to show that a current carrying conductor
experiences a force when placed in a magnetic field.

e T 5 1 o T i e e i Amifee =i

(i)  SAWEE (i) TP

(i) T (iv) &&d

fire T 1 i D UEE H i g 62
Draw a diagram of human alimentary canal and label on it

{i) stomach (ify  liver

(iif)  pancreas (iv)  small intestine

Explain the role of bile juice in digesting food.
HAEET S OR

e Segsi w7 61 T Feed i gud et o i St
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@  FEaE Gy A
(i) e (v) T
(b) A= g 872

L -sia) Draw a diagram of human excretory system and label on it:

25

26.

(i} left kidney (i)  urethra
(iif) — ureter (iv) ~ urmary bladder
(b) Mention the purpose of making urine ?

ym-a/ SECTION - B
ﬁﬁmg@ﬁﬂuﬁ?%ﬁwﬁﬁaﬁ%ﬁﬁaaﬁw wfafeEa 1 AT
aﬁmuﬁmaﬁﬂ—m?ﬂi%mﬁmmn uﬁ%gﬁ%aﬁqﬁﬁwaﬁﬂﬁmﬁml

&g e 35 TV T wEE
(oa =g | faema e | e B i S A | o |

A e TR g wE |

@ A ®) B © C @ D

Four groups of students were assigned separately the experiment of interaction of
iron nails with a solution of copper sulphate. Each group recorded the observations
as given below in the table. Which group of students recorded all the observations
correctly. e
['Group of | Initial colour of solution | Final colour of ] Change in fthe |

solution iron nail

A Colourless Grey coat —|
B Gffeen Green Brown coat |
C Blue Blue’ ! Brown coat |
D

D Bae e | browneet |
5 A ° M. B © C Z]fS D
ﬁm@@ﬁmﬁaﬁmﬁmﬁﬁmﬁmaﬁ%?

(a) ﬁ%wﬁmmﬁzﬁwﬁﬁﬁmm1

(b) Forey warfir 3 RS gl S

(©) mw@ﬁ%mﬂamf@wﬁmﬁﬁmﬂﬁﬁﬁaﬁWM1
(d) #ﬂﬁﬁmﬁﬁﬁﬁmmammﬁaﬁéuﬁﬁéﬂﬁ1

Which of the following is & correct observation when water is added to quick
lime ?

(a)  Vigorous bubbling and a hissing sound

(b)y  Slow bubbling with no sound

(<) Vigorous bubbling with evolution of heat and a hissing sound

(@) Nochange and a hissing sound

1
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27

Q@Q\E’V

wﬁ&g&ﬁwﬁpHﬁmgmwwvmehW| e faems @ w1

%
@)  Hifeaw wreins
(b)  Hifeyy azEne

® "L'{.:) mmmmmﬁwﬁw

28,

(d) UuFeF o

On introducing a strip of pH paper in the given solution , the PH paper changed to

light red. The given solution could be of -

(a) sodium hydroxide

(b)  sodium bicarbonate

(c} a mixture of sodium hydroxide and sodium bicarbonate
(d) ethanoic acid

ﬁﬁéfﬂwwpu-mmﬁiﬁmﬁsﬁﬁwﬁmﬁéﬁ?#m

L S ®)
5 pH TR
Tame

()

The correct mothud to find the pH of a solution is:

(@ TEST TUBE )
VAPOURS OF
PH PAPER SOLUTION
i ' SOLUTION

{t‘:l a DRDPPER d}

TEST SOLUTION

— PH PAPER
—GLAZED TILE

TEST TUBE
SOLUTION

pH PAPER
— GLAZED TILE
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29. ﬁﬁﬁmﬁaﬁﬁmﬁﬁmm%mmﬁmmaﬁﬁ@%m- 1
arer He 319 Feamg T ¥

=

: MaCH T
Vo NaOH Tz Zn
Lo ~ -
| 2 r
1 ] A
e H T
fa) I (by I (c) I (d IV
The figures below show set -ups for studying the reaction of zinc with sodium
hydroxide

DILUTE

NaOH
| ‘ NaliH PELLETS

& | .| NaOHPELLETS & Zn
Y— BURNER @ WL BLURNER
In
I v

ik

The correct set — up 1S
{a) I (b} I () 101 (d) IV

30. ﬁmﬂﬁmﬁmﬁﬁ%ﬁﬁgﬂrﬁnﬁl A Far e Em T E 1
Frerr 1 7 At @ T # | v # forn fre €
@ foF e (b) AR TEHe
(€  HIH FEHE (@  EfErE gewe
Iron nails were dipped in a solution kept in a test tube. After half an hour, it was
observed that the colour of the solution had changed. The solution in the test tube
was that of :

(a) Zinc sulphate (b Iron sulphate
{c) Copper sulphate (d)  Aluminium sulphate

31. aﬁﬁmAﬁnBﬁm(maﬁﬁmﬁﬂmfﬂmw%iﬁmnﬁﬁﬁmgﬁrﬁﬁ 1
w1 i B 3 fois =1 v | gE e A %{mwmﬁﬁﬁ%mqﬁzﬁn
‘ﬁﬁraﬂﬁﬁ%ﬁﬁﬁ'ﬁaﬂmmwm%ﬁ;

(a) ﬁﬁ%ﬁmﬁﬂaﬁmmﬁa%ﬁnmmﬁamaﬁm%l
(b) Eﬁﬁﬁﬁfﬁ'ﬁﬂﬂ%aﬁmmﬁh%aﬂﬁﬁmﬂh:ﬁkﬁmuﬁﬁ:
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32

33

‘?%é e Re

() 1 3 B T T S e § S T W i iR A o

(d) S T e S i ¥ SR T WS e S e o €

Two beakers A and B contain Iron (I} sulphate solution. In the beaker A is placed a
small piece of copper and in the beaker B is placed a small piece of zinc. Itis found
«hi2t a grey deposit forms on the zinc but not on the copper. From these observations
it can be concluded that :

{a) zine is most active metal followed by iron and copper

(b)  zinc is most active metal followed by copper and then Iron

() Tron is most active metal followed by zinc and then copper

(d)  Iron is mostactive metal followed by copper and then zinc

%‘mﬁ'i.avﬁmmﬂﬁﬁmﬁvaﬁazﬁm% fre F 0 i O e wE w2
i HHHE HHHEE R
(A) (B) () (D)

(a) A (k) B (€ € (4 D
A student has to conmect 4 cells of 1.5 V each to form a battery of 6V. Which

arrangements is correct ?

A e e -
A) (B) (S ()
@) A ® B ®) € @ D

formy B A e it T R wa e eEEa T Wie T E

= U Eoon g &
y 3 ~+_ @
. +@:

4=

(1) {i)

(iii) (iv)
(@ (b) (1) (€)  (iil) (dy ()
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Identify the circuit in which the electrical components have been properly connected :

. +@\; _ 3
(1)

+

(i)
4 — —{—
+ = : b S
) % o]
(i) , )
@ 0 @ (i) @ (i) @ @

34. ﬁﬁfiﬁmﬁﬂﬁﬂ@ﬂ%ﬁ%ﬂﬁﬁﬁﬁﬂﬁ?ﬁﬁﬁﬂﬂﬁﬂﬁﬁﬂﬂﬂ%m 1
w e T A e R = I SOl F YiE e SR SeTE HHn

Eui

(@  (— 4mA, — 02V) 3R (1mA, 0.1V)
(b)  (+ 4mA, + 02V) 3 (2mA, 0.2V)
©  (— 4mA, — 02V) 3R (2mA, 2V)

(d)  (+ 4mA, + 02V) ST (1mA, 0.1V)

The rest position of the needles in a milliammeter and voltmeter when not being used
in a circuit are as shown in the figure. The zero - error and least count of these two
instruments are :

(a) (— 4mA, — 0.2V) and (1mA, 0.1V) respectively
(b)  (+4mA, + 02V)and ( 2mA, 0.2V) respectively
(c) (= 4mA, — 0.2V) and ( 2mA, ZV) respectively

(d)  (+ 4mA, + 0.2V) and (1mA, 0.1V) respectively
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ﬁ"mﬁlﬂﬂﬁﬁ‘dﬁmﬁ%qﬁﬁ%}saﬂﬁﬁuﬁﬁ%mmﬂ%mﬁ?ﬂ?ﬁﬁaﬁﬁﬁaaﬁ 1
-3 ftes F PR e S X, Y i z # fearn g

e e © | F—()— HI

+ + +

= X .@ =
S [+ ]

o) A

+®—
) (¥) (Z)

forg TRy F Ao s dh G S T e o E

() FHEAX Y (b) FEAYHRZ

€  FEAZIATX (dy dHid@

In the experiment on finding the equivalent resistance of two resistors connected in
parallel, three students connected the voltmeter n their circuits in the three ways X, Y
and Z shown here :

—HiEo— Al IO

+ + +
® O @ R,
R L%, ol
.Y R Y
S (Y) (£)
The voltmeter has been correctly connected in :
@ X and Y only (b) Y and Zonly
(c) Z and X only (d)  all the three cases
ufige T 3R I H R, 3 R, SIS TR 1
e
@ p—
+
—HIlIF— Hili—6—
(I) (1)

(a) 2 afee o e
(b) =i wfef F A wE A
(@) uftum 1fwed A H SR F Al wH H)
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(d)  OFwa o e wu F e doft we F

In the circuits I and II the resistors Iy and Bs are connected in ;

“_ &
®
iR —
(0

(a) Parallel in both circuits
{b) Series in both circuits

Parallel in circuits Land series in circuit IT
(d)  Parallelin circuitII and series in circuit I

37. am%mﬁ‘énﬁﬁaﬁﬁﬁrﬁaﬁwﬁﬁmmm FEAwa TR T 1
SRR vy ) ) A ) SR H v R
(@)  TERI SIS FET Serl (b) i # FerERe w1 e S
(@ i w e e (d) ofit # wegn @1 fAfeRa F
The teacher told a student to place a potted plant in dark for 24 hours prior to an
experiment on photosynthesis. The purpose of placing it in a dark room isto:
increase intake of oxygen  (b) activate chloroplast in leaves
destarch leaves (d)  activate the enzymes in leaves
38. @ﬁﬁmﬂwmwwmmﬁwmw%ﬁmﬁqﬁaﬁﬁ 1
BIET B W
(@) T ® A (@ FewE () F
When a leaf is boiled in alcohol and then treated with iodine solution, its colour

changes into :
{a) pink (b)  blue blue-black (d)  black

39. ﬁnﬁaﬁﬁﬂﬁﬁﬁm%tﬁﬁ#ﬂﬁﬁwaﬁhﬂ: 1

(a 1 2 i
3 3 4 FERIEATE

@ 1 I Tl 2 W
3 ufyETE IR 4 FARERE

(€@ 1 iy ) uftratme I
3 FAR AR 4 B iR

d 1 FAR S 2 iy
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3. ftrer wiEE 4,  BR FHIEE
Given below is the diagram of stomata. Select the correct labelling for the diagram :

. =

@ 1 Epidermal cell, 2. Stomata,

3 Guard cell, 4. Chloroplast,
1 Guard cell, 2 Stomata,

3. Epidermal cell, 4, Chloroplast,

(c) 1. Stoma, z Epidermal cell,
3 Chloroplast, 4 Guard cell,

(d 1L Chloroplast, 2. Stoma
3 Epidermal cell, 4. Guard cell

40, o = foreet & STl mﬁﬁwﬁm%mﬁﬁﬁmﬁmm%aﬁ%: 1

(@) TR (by e =
(©)  TEfECEREREd (d FHEEE fEeE
The stain used to observe stomata while preparing temporary mount of a leaf peel is:
safranin (b)  methylene blue
c} acetocarmine (d)  iodine solution

41. ‘Wﬁc@mﬁwmi'wmﬁﬁaﬁ%mﬁmﬁmﬁafﬁa - |
2 ¥ w1 =g e w0 1
(a) KOH gt 21 T 21
(b) @mﬁmaﬂwﬁm%
(c) et fferehn # et o1 R T S0 R
@y T g e 3 st 3 R 1 i SEdd T g e
A student sets up the apparatus for the experiment to show that CO, is released
during respiration. After two hours she would observe :
KOH turning milky
Water level rising in bent tube in the beakers

{c) Water level decreasing in the bent tube
(dy  Nochange in water level in the bent tube.

42, *Wﬁcozwﬁﬁﬁwﬁm%'ﬁmﬁonmm%: 1
{a) THEA T FEAT
(b)  vaEe H dfeter i P
() e ¥ S HE
(d) sigfa € i & fosifEm CO.™ ST T |
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The function of KOH in the experimental set up to show that COz is released during

respiration is to :
(a) . enhance respiration
. b} release oxygen for respiration

% remove water vapour form the flask
@ absarb CO» released by germinating seeds

-00o0-
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